Tshqad sATSI(COMPOUND INTEREST)

Q.1 5000 T 8%
Thge, e SATST ol &I 2
IV &l Tshae Y SISl
I3

(A) 832

B) %732

(
(C) %623
(D) %532




Q.2 6000 1

10% Tshqe e
STl hT eI I

BELHEENIK]

SaTHY |

(A) 21623
(B) %1632
(C) %1650
(D) %1700




Q.3 T o T4000 i

afr 12 5 %feer a

YT ol dT Id131 I8 2
aY o d1¢ el fohclall

T SAlerar |

(A) %5062.50

(B) 6062.20
(C) %7062.50
(D) ¥5045.50




Q.4 5680 TUT T A

10% TshdG, ey SATST
X T3¢ a¥ & AT 38R
Gl SITaY § Ife saret i
QT 3TeIaTTSeh &r ar

Tshge e sATST SdT31T |

(A) 895.31
(B) %700.31
(C) %600.31
(D) %565.31




Q.5 8000 Hr RN 12% &
Tehde s TSl Hrex A
0 ATE & fIT 3g &

ST & Ife sare dir aa

IATTAS df Tshae

STl IaT3iT|
(A) Z741.81

(B) %700.31
(C) %600.31
(D) ¥565.31




Q.6 8000 r Tfyr
12% FrexT 1Lay
& U sar rardr
Ife sgTaT 1 U 9T 5

HTEI 81 oY Tshqe ey

SITST FIT §IAT?
(A) 21261
(B) %1361
(C) %1561
(D) %1761




Q.7 15 A 10%
FreT 3UR ST
AT g3 3ay
37 H 1331 9red
gid & df adr3il 34U
&Y 318 JITA AT g2

(A) %1000
(B) %1100
(C) %1050
(D) %950




Q.8 4000 &1 Ty frg &3
O 3YN & SATT dlfeh uT 2
ay #H 25290 g S0

(A) 15 %
(B) 10 %

(C) 20 %
(D) 25 %




Q.9 6000 T TfA 10%
O sarar hregvd

37986 T STar g or

JAITGT T3 |

(A) 3ay

(B) 4ay

(C) 2a¥
(D) 5ay




Q.10 ShIg T T sATST T
aIiYeh ST W 2 IY H 3 I[AT &1 AT &
Fl’fqmsﬁqsﬁo—dﬁafr 9 T[T &Y
STl

(A) 3ay

(B) 4a%
(C) 2ay
(D) 53w




QU FSARM4aTH
ﬁﬁ?ﬁ%’a’rwsﬁqs%
aY #H 16 I gr SATee

(A) 133y

(B) 15ay

(C) 12a%

(D) 16 @y




Q.12 TG AT W Hlg
¢eT 2 9 H 2600 & ST &
JAT3 IY H 660 &Y SATAT &
dl Iehadl sATT FreT FAT &
?

(A)  18%

(B) 10 %
(C) 20 %
(D) 25 %




Q.13 21800 hr TfAr 10% 1
e ¥ 3R &Y ST & ar Sar3i

Tshddll sATST 98 TA SATST
2 gY T 3 AT g ?
(A) %18

(B) %17
(C) %16
(D) 251




Q.14 16000 1 A 5% T
eI 39 & AT 3RS
STl & T Iehddl sITaT g
Tl SATST T 37AX T3
(A) %122

(B) %132
(C) %162
(D) %154




Q.15 PSS ATA 8% H eI F2dV¥
forT 3uR & ST & afe asadr

SgTST § TIeT SATST T AT & 2320
g ar afer samm

(A) 80000
(B) 70000

(C) 60000
(D) %50000




Q.16 TREY &7 ST 2 aNT T
TTEIROT sTTST 400 AT 2
gST ST Tshadf sTToT 3412 &
ar ari¥er =I1aT Fr X & F4
g

(A) 6%

(B) 10 %
(C) 5%
(D) 7 %




Q.17 Tdr &t T 10% T
23X O 3 Y T Tshddl AT

1655 drgdli ey {2 ay

T Tchddl sAToT FAT BT
(A) %1050

(B) %1100

(C) %1200
(D) %1500




Q.18 IS ATA 2 a¥

4500 gr SATdT g

JAaT 4 9¥ H 7500 &

gﬁr%a’ra‘e’uﬁrw
?

(A) %2700

(B) 3700
(C) %2600
(D) %3600




Q.19 Teh gfad o 22652 & . 10%
ST STToT IR 39T T AT Tiged
JHIEST o oITH T STHT HIT ST TGl i
3 ¥ & 3daT AT el [Sdair Age &1
53y & df §a137 37 ATH W fohaaT
¢TeT STAT TohaT

(A) %1452
(B) %1552
(C) %1652
(D) % 1752




Q.20 %3280 39 H3h W 3R
fear 1T o7 5% ariSer Tehadt
ST T &X T & AT arfveh
foredl H arfog T g ar
Ucdeh Tohed &hr TR Far3|
(A) %1764

(B) %1864
(C) %1652
(D) % 1752
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